How l ‘ilwmezl l/vu] CJGSI( in’to o)
SBVMP(L Séahc[—upﬂolesk

luiél‘ma lmgjrru c{‘cob\s 1COV @u
On lable Desl

) Determining the height of the o Lob -l

T‘xe Séaui-uvb-cles(x SL\OM(«J L\aue, o [/\e/;‘%LnL MJL L{Zw%
wLem &Lmdim% ;m ]f\,o,,,é amcl Pesa[z“n% Youv QY m



on b dhe upper and

éOoJe\r Qrm A aJD o
cwe\é oé sCo‘aLféV more
H\om o ngi ac/ug[z.

Tl'\@ka#rc, the L\@ig\LJc lf\ of
{‘L»a OVL~713010(@~C!63()< Es {‘b@
C‘;(\[@ffﬂvwa b@éweem %e
l(fea,(/ \/\ei%[nf o£ et Qyma
and e top of the tdol =
on Lshich the S‘léanc{—qp ~desly y 4
will be PosiqL\om&.
v My cane h = $0cm .




Z)Tke WOOJ
\(ou V\eecl 4 pieces o,[ wemc&

(@& dl:(/v\el/) Siol«_& Qe :V\ W\wl>

g J)a,ge -Fkotﬂ%

g J)qg@ sUe,g




[L\ave uSe/d p((jwwcﬁ IQWM MfCL(,
|

So qfcw me
8 = [Z W -

35'@1&)%»757

lhe ¢lots n the hase
e(,ememts (,o;(,L prewhc(e
&)@S[c 5#68@&&@




_,; EhsSyre +£\O(IJU %@ {:@P b‘é Q,Cgo ,’Gx@f [ \/\aue
oa(:éao&@oﬂ pe%s {?Lma{} SColé cevoc,ma( l%e ]Qd(c

Qée/ men ?55 :




Lf> F”\o,f(s &

\L\OP@ you \Q)um(J 'H»ega ;mgllmcj—»\mn u,&_e][wé.
L e §oy Slamclmé\ CQ+ Vg BL?MQ]‘QV)"JZ&L( very
much. ) If o o build cre GourSel{
LOCCDLDW% Bese [u&vtmcj{@ug | teodd e
O(eCCc@’n ld o (e abouf it

ZFJWQ (aw)oﬁd@ hedl;maua . ij




